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Sub

Total

No. Solution and Mark Scheme
Marks | Marks
1 (a) 97h, Owch+187x, 9rh+36mr,...
d, =97h+187 —9xh
=187
or K1
d, =97h+367—(97h+187) 2
=187
Since d, = d, =18, therefore the sequence is an Arithmetic Progression N1
1 () | Tiz=9h + (13- 1)(187)
Or (h+24)=252x K1 2 7
h=4cm N1
1 (C) ey Tn, Tn+1, Tn+2,
T +(T, +187)+(T,+367)=1620r K1 or equivalent
T,=522n
h(97) =522x K1
58 cm, 60 cm, 62 cm. N1
* Tnis the n" Volume
2(@ |1
E|(4a+15—2b)—(—5b—8—3a)|:29.5 K1
7a+3b=36 or 7a+3b=-82 K1
8b—a =37 4
Use simultaneous equation method K1
D(3,5) N1 6
2(b) | 2ND = NF
2J(x=3) +(y=5)7 =J(x+2)* +(y+3)* Kl
2

3x” +3y° —28x—-46y+123=0 NI




No. Solution and Mark Scheme Sub | Total
Marks | Marks
’ Y
L /
15 ‘ | |
i / ‘ //
10 e | [
‘ / Point of Intersection / :
1(3.272,0.654) e
’ e /
e i
seeeeeenpamEEEREEEE R SRS RS L R SR
_g [EE 3 3 / /% | : 3 2
10 | /
~15 ] | I/
20 l
8 8
All values calculated correctly for the Table of values N1
T V4 T 2 Sm Tz | 47 | 3«
X — - — — | — T | — | = | =
6 3 2 3 6 6 3 2
y 1289 866 | A |-866|-28 | 0 [2.89]8.66| A
. T _ 37
Asimptote at — @ — P1
272
Scale P1
Correct shape of tan graph P1
Complete cycle within 0 —3/2n P1
. . . Sx
Equation of straight line y =x r K1
Correct plotting of the straight line graph K1
Value of x-coordinates is 3.25 N1

(* Accept answer in the range of 3.15 — 3.30)




No. Solution and Mark Scheme Sub Total
Marks | Marks
4 (a) 4=76 or0.2236 seen P1
P(Z > 80_76} =0.2236 Kl
lo2
4
80=76 _ 476 K1
o
o=5.263 N1 7
4 (b) _
P Z<—k ’6 =0.1 K1
5.263
_ 3
—k 76 =-1.281 K1
5.263
k=69.26 N1
5 -
@O 13
2(2)(8) 2
-0.03315 N1
@A) | 3x(6)(—5)(2—5x)" +3(2—5x)° K1
3(2-5x)°(-30x+2—5x) 2
3(2-5x)°(2-35x) N1 5
5(b) @ _
(b) () lim 2x-D(x+1) o K1
=3 (x+1)(x-3) 2
Does not exist because the limit is undefined N1
5(b) (i —
(b) (i1) lim Qx+D(x-3) _7 K1
=3 (x+1)(x-3) 4 5
Exist because limit is % N1
6 a+2b+c=92 P1 for any correct equation formed
a+b+2c=101
2a+b+c=92
—-b+c=9 K1 or equivalent
3b+c=92
4b =83 K1
b=20.75 6 6
c=29.75
a=20.75
T-shirt = RM20.75 N1
Track suit = RM20.75 N1
White shoes = RM29.75 N1




No. Solution and Mark Scheme Sub Total
Marks | Marks
7(a) (i) | 0 or undefined P1 1
7 (a) (ii) 1 1
log, m* +log, n* +1og_33
log, 81
1 1
~log, m+—log, n+ —— Kl
3 2 log, 3 3
1 + 1 + 1 K1
3 2 4
E N1
12 8
7() O) | H =96(0.45)
t=0, H=96(0.45" Kl 2
H =96 N1
7(b) (i) | H =10,
10 =96(0.45)' K1
2

10
log,, 96 tlog,, 0.45

t=2.83 N1




No. Solution and Mark Scheme Sub Total
Marks | Marks

8@01) | pPO=PO+00 KI using triangle law

PQ=-a+b NI 2
8(a)(i)) | OR =00+ OR K1

572:Q+( n @3 K1

3+m
ﬁzlﬁ( m (a-b) K1 4
- \3+m) ~
ﬁ:( m ja+ 3 jb N1
3+m)” \3+m )™
8(M®) | OR=ARS Pl
10

( u jg{ & jlz=/1(82+61_7)

3+m 3+m

m =84 or 3 =64

3+m 3+m

m= % K1 (Solve using simultaneous equation) 4

a=L K1

14
m=4 N1

*KONO jika menggunakan vektor lajur
*KONQ if using column vector




No. Solution and Mark Scheme Sub Total
Marks | Marks
9 (a)
X 1 2 3 4 5 6
Iny 0.28 0.00 -027 | =053 | —0.76 | —1.02
N1
Graf
Iny
0.6
0.4
0.2
0 1 x 4
-0.2
-0.4
-0.6
-0.8
-1.0
K1 for correct axes and scales
K1 for all correct points
N1 for line of best fit
9() | ny=Ing(x)+Inp-3 Pl
O p-3=05 K1
p=33.12 N1
Ing = (Mj K1 6
6-2
q=0.775 N1
9() | Iny=-0.64 Kl
(i)

$=0.53 N1




No. Solution and Mark Scheme Sub Total
Marks | Marks
10 B is a minimum point
@0 | 10
0=x"—4x K1
0=x(x-4)
x=0,x=4
B (4, 0) N1
10 2
o x)=|x"—4x dx
(a)(ii) S I
f(x)—x—3—4x2 te K1
3 2
(4.0)
3 2
0= ﬂ — 44 +c K1
3 2 6
32
cC=—
3
f(x)="—=2x"+ 32 N1
3 10
10 32
(a)ii) | € (x,?]
32 X x> 32
= + =
3 3 3
x=6
c(s 2) NI
3
10 (b) | Area of rectangular - area under the curve
(6><—j [ 6x——4i — d j K1 (area of rectangle)
xto2x 32x .
64— HE 5 + Tl] K1 (integrate) 4

64_&@_@+&(6)}{(0)4 _L())S+&(‘))D K1 (substitute limit)

12 3 3
6428
36 unit? N1

12 3 3




No.

Solution and Mark Scheme

Sub
Marks

Total
Marks

11 (a)

Z0AC :(1802_4()} K1

ZOAC=1222rad N1 (Accept at least 4 significant figures)

11 (b)

Perimeter of sector ACDE
=(2x8.89)+(8.89x1.222)  Kl(length of arc) K1(AE+AC)
=28.64 cm N1

11 (c)

%(8.89)2(1 .222) seen K1

%(13)2 (40x% —sin 40) seen K1K1

OR
L3y 40xij-1(13)2sin40 KIK1
2 180) 2

Area of shaded region

= %(8.89)2(1 222)+ %(1 3)2 (40 x % —sin 40) K1 (Sector+Segment)

=52.97 cm* NI

10

12 (a)

s=17.555
*Accepts = 7.56

Luas ABE = \[7.555(7.555—5.32)(7.555-4.27)(7.555-5.52) Kl

=10.62cm”> NI
*Accept answer 10.62 - 10.66

12 (b)

%(5.52)(4.27)sin ZABE =10.62 K1

ZABE =64.31°
BD* =4.27%+3.35" —2(4.27)(3.35) cos 64.31° K1
BD=4.13 cm

sin ZEBD _sin64.31°

3.35 4.13
ZEBD =46.97°

ZCBD =68.72°
CD* =4.13" +5.52% = 2(4.13)(5.52) kos 68.72° K1
CD=5.57 cm N1

/ COSINE RULE K1 (or equivalent)

12 (¢)

%(4.27)(3.35)sin64.3 1°
or

%(4.13)(5.52)sin68.72° K1

%(4.27)(3.35)sin64.31°+%(4.13)(5.52)sin68.72° K1 (Add)

17.07 cm? N1

10




. Sub Total
No. Solution and Mark Scheme Marks | Marks
13@) | 0.70 00175
X
or K1
5.50
100 =
400 7
4
2 %100=120
50
(i) x = RM0.40 N1
(i) y =137.50 N1
(iii) z = RM3.00 NI
13(b) | (175x15)+(125%30)+(137.5%25)+(150%x35)+(120x10) - 10
(15+30+25+35+10) )
=141.41 N1
B3O S 100214141 K1
456
2
Cyp = RM 64483 NI
13 (d
(d | 120x141.41 K1
100
2
=169.69 N1




No. Solution and Mark Scheme Sub | Total
Marks | Marks
14(a) | ¥, =0,0=2t-6
t=3
2 3
5 3 t .
S,=[f-6t] ORS,= [St——} OR equivalent K1
0 2 0
S,=-9m
S,=21/10.5m
2
Distance between particles « and S 3
o —— —————— —— 0————)———0,3
9m 8 m 2m
2
= 9+8+2 K1
2
=§/27.5 m N1
2
14 (b) | Jarak antara zarah « dan
S,;=8,-8,+8
&2 1, 2
Sup =5 =1 —( -6t)+8
3,
Syp=—7t"+111+8
2
2
= S,, maksimum ,maka V,, =0
V,y=-3t+11
0=-3r+11 KI1
tzgs N1
3
14©) [ (0)S,=S,+8
t2—6t=5t—%t2 +8 Kl
3t7-22t+8=0
(3t+2)(t-8)=0 5
St=8 N1

Jarak bertemu dari titik A
S, = (8)> —6(8)
=16 m




No. Solution and Mark Scheme Sub | Total
Marks | Marks
15(@) |1 x+y <400 N1
II x <3y N1
Il 80x + 60y = 7200 NI 3
OR equivalent
15 (b) | Refer graph
Draw at least one *straight lines correctly from *inequalities
involving x and y only K1
Notes: . 10
Accept dotted lines or solid lines N1
Correct shaded region N1
15 (¢) | From graph, coordinates (300, 100) N1
@ Substitute any points from the *shaded region into the objective
function 80x + 60y K1 4
RM30 000 N1
15 (c) | From graph, 50 N1

(i)
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